ﬂé Multiplication Word Problems Name:

Solve each problem. Answers
1) Anairplane compartment can hold forty-eight pieces of luggage. If asmall plane had sixty-
five compartments, how many pieces of luggage could they hold? 1
2,

2) Henry was building a LEGO tower. He built it eighty storiestall with twenty LEGOs on
each story. How many LEGOs did he use total ?

3.
3) A furniture store was selling new chairs for fifty-seven dollars each. If a company bought
: . : : 4.
thirty-five chairs, how much money would they end up spending?
5.
4) An orchard owner was counting the number of apples he had total. Each of his seventeen
trees had ninety-eight applesin it. How many apples did he have total ? 6.
5) There arefifty-one teams in the state trivia tournament. If each team has seventy-eight 7.
players, how many players are there total ?
8.
6) Ned was helping his mom plant vegetables in the garden. Together they planted seventy-
two rows of vegetables with fifty-nine seeds in each row. How many seeds did they plant %
total ?
10.
7) Oliviahasfifty-two abums of photos uploaded to facebook. If each album has eighty-nine
picsin it, how many pics does she have total ? 1

8) A pet store sold eighty-three puppiesin one week. If each of the puppies cost thirty-one 12.
dollars, how much money would they have made?

9) On her MP3 player, Tiffany had fifty-eight different singers with twenty-six songs from
each singer. How many songs did Tiffany have total ?

10) Mike was collecting cans for recycling. In amonth he had collected eighteen bags with
eighty-two cans inside each bag. How many cans did he have total ?

11) Lanawas practicing drawing super heroes. Each day she drew thirty pictures. How many
pictures would she have drawn after fifty-two days?

12) George was unpacking boxes of ornaments. If he has forty-six boxes with eighteen
ornaments in each box, how many ornaments does he have all together?
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ﬂé Multiplication Word Problems Name. Answer Key

Solve each problem. Answers
1) Anairplane compartment can hold forty-eight pieces of luggage. If asmall plane had sixty-
five compartments, how many pieces of luggage could they hold? 1 3,120
2. 1,600

2) Henry was building a LEGO tower. He built it eighty storiestall with twenty LEGOs on
each story. How many LEGOs did he use total ?

3 1,995
3) A furniture store was selling new chairs for fifty-seven dollars each. If a company bought 4 1.666
thirty-five chairs, how much money would they end up spending? ' :
5, 3,978
4) An orchard owner was counting the number of apples he had total. Each of his seventeen
trees had ninety-eight applesin it. How many apples did he have total ? 6. 4,248
5) There arefifty-one teams in the state trivia tournament. If each team has seventy-eight 7. 4,628
players, how many players are there total ?
8. 2,573
6) Ned was helping his mom plant vegetables in the garden. Together they planted seventy- 1.508
two rows of vegetables with fifty-nine seeds in each row. How many seeds did they plant % ’
total ?
0. 1476
7) Oliviahasfifty-two abums of photos uploaded to facebook. If each album has eighty-nine
picsin it, how many pics does she have total ? 11 1,560
828

8) A pet store sold eighty-three puppiesin one week. If each of the puppies cost thirty-one 12.
dollars, how much money would they have made?

9) On her MP3 player, Tiffany had fifty-eight different singers with twenty-six songs from
each singer. How many songs did Tiffany have total ?

10) Mike was collecting cans for recycling. In amonth he had collected eighteen bags with
eighty-two cans inside each bag. How many cans did he have total ?

11) Lanawas practicing drawing super heroes. Each day she drew thirty pictures. How many
pictures would she have drawn after fifty-two days?

12) George was unpacking boxes of ornaments. If he has forty-six boxes with eighteen
ornaments in each box, how many ornaments does he have all together?
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ﬂé Multiplication Word Problems Name:

Solve each problem.

7

1,508 1,600 4,248 1,666 1,476

4,628 2,573 1,995 3,978 3,120

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

An airplane compartment can hold forty-eight pieces of luggage. If asmall plane had
sixty-five compartments, how many pieces of luggage could they hold?

Henry was building a LEGO tower. He built it eighty stories tall with twenty LEGOs on
each story. How many LEGOs did he use total ?

A furniture store was selling new chairs for fifty-seven dollars each. If a company bought
thirty-five chairs, how much money would they end up spending?

An orchard owner was counting the number of apples he had total. Each of his seventeen
trees had ninety-eight applesin it. How many apples did he have total ?

There are fifty-one teams in the state trivia tournament. If each team has seventy-eight
players, how many players are there total ?

Ned was helping his mom plant vegetables in the garden. Together they planted seventy-
two rows of vegetables with fifty-nine seeds in each row. How many seeds did they plant
total ?

Olivia has fifty-two albums of photos uploaded to facebook. If each album has eighty-nine
picsin it, how many pics does she have total ?

A pet store sold eighty-three puppies in one week. If each of the puppies cost thirty-one
dollars, how much money would they have made?

On her MP3 player, Tiffany had fifty-eight different singers with twenty-six songs from
each singer. How many songs did Tiffany have total ?

Mike was collecting cans for recycling. In amonth he had collected eighteen bags with
eighty-two cans inside each bag. How many cans did he have total ?

Answers

10.
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